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1. Give a reasonable estimate, with appropriate
metric unit, for each of the following. [2 each]

4. Give a correct systematic name for each formula. [2
each] -

ldl dts'ulpu.r me [umif—

s CQ - Joo S;Fs
a. the mass of your little finger. _|O @p X a) _ B
C/Q \m“(.ﬂD Su]-p,,_l_g_,_ Fe,S,
e X N
b. the height of a coffee cup. 1O _Cm Cg om =30 Cm> ?ucfurus {'ndﬂ’h‘“&y PCl,
> MO niwm M&"mu ('_\,L/ NH,0H
¢. the volume of your textbook. 2 L CO 1L-3L
(2dL-0dD) . mukhanrs cH,
2. Give the symbol of an element that fits each dini m%‘-ﬁ'\ nox N,O,
description. In some cases, there may be more than one :
acceptable answer; choose one. [2 each) pluminum Corloo nak AL(CO,),

Li. the alka@metal in m 2

Gc,gn,ﬂa a metal in the same group with silicon

\° efol i Saumeger

5. Give the comrect chemical formula for each siibslance
named. [2 each]

SC,T' ~in a transition metal in Period 4 Qq_l"n. -CzC-H ethyne @ Ay cH
0,$ I S";—‘."g Fﬁ: element whose neutral atoms have 6 \L]\. N HS ammoma @ N u'lt
valence electrons pt-
Mt} 3 (’-1_ magne%mm phosphide |
N JPr AS o atom that normally forms 3 bonds in i
covalent compounds S’l B*{‘,_# silicon tetrabromide
En™
Zn C“ 03)2_. Zine ml;tsatf:3 .-
. 2k
3. [5 pts] Complete the structure: Add lone pair GLSO ;
electrons, or tum single bonds into double or triple - g | ) calcn_nLT sulfa?e -
bonds, as needed so that every atom has its normal (%6
electron arrangement. (Do not add any atoms to the CMEL L copper(Il) phos;;f'nate

molecule.) @ eothh adom

:rﬂ:

[

H Q—H

'_q-q-_ c—pase <ot

Check back over your exam and make sure you have completed all parts before turning in your paper!
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6. Fill in the blanks in the table below. [ point each]
formula atomic mass # of protons | # of #of charge
number number electrons neutrons
3 S 1o 33 B3-115(6) | 16 17 0
Cu® 2 2435 =(64) 24 28 35. +1
i TICEED TR 1% 124 +3

7. [10 pts} In the space below, draw the structure
of 3,3-diethyl-4-methyl-1-hexene.

\D

ETG— ‘PMBL W

8. Inthe ptfucture below, circle and appropriately
JJabel.all functional groups. [8 pts]

Lem BE: qthl-el;e,&.gi ‘3’%&“1*%4%

Cl).f‘“} rs i

I
eH= C—CmCPy Y7 s
o

CHy~
CHy catHy

Check back over your exam and make sure you have completed all parts before turning in your paper!
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Multiple Choice [3 points each]. Choose the best answer and record it on your Scantron card.

1 Which of the following is a characteristic of a sample of a mixture?
A All atoms have the same number of protons
B All atoms have the same aumber of neutrons _
€ Is made up of other, simpler substances in a fixed ratio
i "D Is made up of qther, simpler substances in a vgriable ratio
'E Appears in the periodic table : .

2 Which of the following properties is generally true of a halogen?
,Aj,ifonducts electricity B usually solid at room temperature
- ' forms anions in ionic compounds D combines with other nonmetals to form ionic compounds
" E relatively unreactive and does not form compounds
> csd '

3 Which of the following is the name of an organic compound?
A carbon disulfide B silicon carbide ' 'Cm
D carbon E sodium carbonate S~ L

4 From the following list, which statement could possibly be correct based on the size of the measurement?
A mouse is9 cm long. |
My kitchen sink has a capacity of 22 pL of water.
C The width of Bob’s classroom is 8.1 mm.
D This plastic drinking cup weighs 85 kg.

Pm+m$+ml'm$ = (i AT B 2

5 You have an atom that contains 16 protons, 17 neutrons, and 18 electrons. What ig-its mass number?
A -2 B 16 C 17 D 32.07 I/E 33

&

()
an element.

B an ionic compound.

C a covalent/molecular compound.

D a homogeneous mixture.

E a heterogeneous mixture.

6 The sample pictured is best classified as: -
(A ; all atowm$ ollilee

A
7O
N

| l"’!""o"" “;’.J.
N

7 Which of the following statements is the most accurate description of the substance PH,?

A PH, is an ionic compound, containing P** and H- ions.
B PH, is an ionic compound, containing P>~ and H* ions.
'L‘%il:llj is a covalent compound, containing P atoms and H, molecules.
(D PH, is a covalent compound, in which P and H are connected through covalent bonds.
' Dah CC bonds Are Finale
8 Which of these is a saturated organic molecule?

OH3-citechy ; >C% ( ol —eld —cl
';A/ progene =B carbon dioxide CO2 \5 '/ octane Czl-‘g*cu,,—'(’-n.,_’d*l,j‘ CH‘L . C’u’b
D ethyne E cyclopentene -

Check back over your exam and make sure you have completed all parts before turning in your paper!
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{tems 9-18 refer to the following five options. You may use each option once, more than once, or not at all,

AN B Cl CNe D Na EFe

19 Which element forms a +1 ion exclusively? GW'U]D 1A N

A 10 Which element forms a -3 jon? @er 58 ,\j
K‘l‘
61 ! Which element combines in a 1:1 ratio with potassium to form an ionic compound? vu-ul M"’““’""‘-’ < C"

(12 Which element does not form compounds? an‘; 84

E13 Which element forms cations that need Roman numerals fo specify their charges i

n the names of compounds?
TTws o waikod | gy wcka] ia YA/6A [6A
E 14 If you have a 1-mole sample of each element, which sample has the greatest mass?

Cara o Y — d—l ezﬂﬂ'w.uvf Fe
£ 15 Which element is a halogen" 1A
E 16 Which of the elements is a transition metal? ? %—r‘db'f.s
"D 17 Which element has one valence electron in its neutral atoms? OV 0""]” 1A

 ov 18 Which element has the highest electronegativity? /‘7 Nor O Cd"’l‘-"" ‘A‘Uf}u‘D

The descriptions in ltems 19-23 refer to the Jollowing five options. You may use each option once, more than once,
or not at all.

A Na B O C Ci D NacCl E Clo,
2 19 A diatomic molecule 2, afsm§, covelnt l"’“‘-\ (=

BZO A substance with a molar mass of 32 g Og"- (e Hlﬂ:%]—%/wre

A 21 A metallic element

22 A molecular/covalent compound
6 ’!HL_____ wetals LQWLMJ' S

W+

D 23 Anlomc compouud wihod

ol + won

Check back over your exam and make sure you have completed all parts before turning in your paper!
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H
24 How many bonding electrons are thers j%l molecule of methanol (shown at right)? a2 I
il ) ‘-II rP
A4 BS (c10] D 14 E I8 H—C—O0—H
7’|
H

25 How many carbon atoms are there in the molecule shown at right?

A_Q (this molecule does not contain carbon)

/BS5 Cé6 b 10 E 22
26 Based on the normal bonding patterns of the atoms Ay 4 H By u =
involved, which of the structures shown is most likely to I [ I ! | |
exist? L ¢ H \cf— C—H
65 b I T
A H H H H H H
N: 3 bends . o
: | bond (G ow o D y H
H /| | | 2l e |
N—C—C—H H—N—ti—C—H
|1 [ ] ]
H H H H H H

27 Mark both the “A” and “E” spaces on your Scantron card. (This item is a form identifier and wili not be scored.)

Check back over your exam and make sure yon have completed all parts before turning in your paper!
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SUBJECTIVE SCORE
INSTRUCTOR USE ONLY

40 90> cBO> c702 chO2
£500 cd40> c3Ds c200 c10o
71
c22 cl12
UG KEY
%3 c23 c323 cHa
tAa CcBo ctCo ¢ CcE2
cAx cBo =i cD3 cEo>
cAa B> =i cD>» cEa
g cB> cC> tD>o cgna
cA> cB>s cC> D> e
=% cB> cC> cD2 cE>3
tAd cBo cCh 2 cE>
cA> cB> wBe cD> cEa
cAax By o wmile cE>
mi tBo cCo cDa cE»

cha
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cAy ol cC> cD> cE>
cAx cB- @™ cPDo cE2
cA> cB2 cCa D> =i
cAa cBy cCa cD2 -=fia
cAld =4 cC> cP> cE»
cA2 cB3 cC> cDo o
cAa> By cCo i cEa
o cBo cCo cDax cEo>
cAy == cCa: cDo cE>
tA> wi® cCz cD>o cEa

DN NMNNNNDONNN
QWM s WwN -

<L cBy cCa =Dy cE3
cA3 cBo cC2 cD- i
A3 cBo cC2 wBe cE>
cA> cBo> s cD> cE=x
cAy o cCoy c¢Da cEa
cAs cBo wim cDo cE>
cA> B> cC> cD3 cE3
cA3 tB3 cCa ecDa cEa
ctAx cBo cCa cDa cE2
cAax cB> cCo cD» cE>

W 0 W oW W W W W W
O W W=~ MmN & WK =

cA? cBax cC>» cD> cEa
ctAx cBa cCa cDax cEa
cA2 ¢cBs cCa cDa cEa
cA31 cBz cCs cD> cE>
cAs B2 cC> D> cEa
cA> cBo cCa3 cDa cEa
cAl cB> ctCo cD>y cE>
cA3 tBy cCo B> cE>
tAs cBax cC2 cD2> cE2
cA> ¢B2 cCa2 cD3 cE3

h b b b bbb o
CWoOoNDG & WN =

cA3 cB> cCa cDa cE>
tA3 cB3 > cD» tEa
cA3 Bz cCa cD>s cEa
cA> cB> cCa cDa cE3
ctA3 By cCo cD3 cE>
cAs cBa ¢Co cD> tE>

cA> B3 c¢cCa D3 cEa
cA> cBo > cD2 cE2
cA=2 B> cC> D3 cEo>
cAa cBa c€C>» cDo cE>
b
o
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%7 w@gw c3o alm

1 wiwe cBo cC> cD> cE>
2 cAD cB2 tC> = cE:x
3 cA> B> me cD> cE:
4 cA3 B> =Co cD- =B
5 cA> B2 cC> =& cE2
6 cA3 ctB: wie cDy cE>
7 cAz cB: =#m cD2> cE2>
B cA- wlm C3 cD3 cE>
9 cA> 3™ cC> cD- cE>
10 = B> cC> cpD> cE>
11 cA> cB- cC> cD- =il
12 cA> cB> cC> wie tEx
13 cA- sBx cC: cD> cE:z
14 cA> tB> cCa Do wim
15 cA> cB> cCa =g cE>
16 co cB> cCy cD3s <E=x
17 cA> &Bf cC3 cD> cE>
18 cA>x Bz cC> Jly cE-
19 cA- cB: D cD2: cE>
20 cA- cB2 tC> cD> afm
21 cA> B3 cC> cD- =@s
22 «#M cBo cC> cD> cEo»
23 cA> cB> @8m cD» cE>
24 cA> 4B® cC> cDz cE=x
25 cA> cBx =i cDa cE>
26 s cB- cC> cD3 cE>
27 cA> tB3 cC> cDa cEs>
28 cA- cB> cC>» ctD> cE>
2% cA>x cB> cC> cD> cE=
30 cA: B> cC= cD> cE=x
31 cA> cB> cCa D> tE3
32 cA> cB>» cCo cD=2 cE>
33 cAz Bz cC2 cD> <E>
34 cA> cBa ctC» cD>s cE>
35 A3 tB- cC>o cD2 cE>
36 cAx cBa cC>» cD» cE>
37 cA: cB2 cCo ctD> cE»
38 cA> cBo cC2 ctDa cE=x
39 cA- cB> cC> cD> cE=x
40 cA> B> =C2 ctD> cE»
41 cA> cB2 ¢C2 c¢cD» ctE=3x
42 cA> B> cC> cDs cE>
43 cA> tBx cC> cD> <E=>
44 cA>x cB> tC> ctD3 cE>
45 cA- cB> cC> cbha cE>
48 cA>x cBs cC=z cD3 cE>
47 ctA3x ctB> cCz cD3 cE>3
48 cA> cB> cC3x cD> cE=x
49 cA> cBo cC2 ©D> cEa
50 cA- cB> cCo D2 cE3
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